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CHAPTER: 2

SIMPLIFICATION

1.[(169 x121) + (11 x13)] -3 =7 [RRB NTPC 2017]

A) 135 B) 140
C) 137 D) 143
2.(1+2/3)+[(1+1/3) = (2/3+ 1] =? [RRB NTPC 2017]
A) 4/3 B) 3/4
C) 12/25 D) 25/12
3. Compute: 4992 + 624 - 10 [RRB NTPC 2017]
2469 -
A 57 B) -2
2496
€2 D) S
4. Solve (3.2 x 10%) + (2 x 10°) [RRB NTPC 2017]
A) =2 B) 0.016
102
C)1.6 D) 1.06
5. Compute: 3108 + 259 - 10 [RRB NTPC 2017]
y 02
C) -2 D) 1036

83

6. Which one of the following operations will result in 26?

[RRB NTPC 2017]
B)18 +16 - 12 x 11 + 13
D)18-16 x12 + 11+ 13

A)18 x16 +12-11+13
C)18+16 +12-11x13

7. What will the value of the following expression be?
20-[15-{4-(8-6+3)}]

[RRB NTPC 2021]
A) 4 B) 8
C)5 D) 6

8. What will the value of the following expression be?

6-+3
(%) _5x(4+5)
[RRB NTPC 2021]
A) -24 B) 24
C) 42 D) -42

9. What is the value of the following expression?
103-[144 + (12x12) + 5+ 12 + (6 - 2) + 10]
[RRB NTPC 2021]
A) 85 B) 84
C) 90 D) 86

10. What is the value of (6 + 4) x % +5-3?
[RRB NTPC 2021]

A) 42 B) 12
C) 24 D) 22
6x2

11. What is the value of %. [RRB NTPC 2021]
A)1 B) 6

C)9 D) 2

12.1800 + (11x 24 + 8 x 3 - 69)? [RRB NTPC 2021]
A)3 B) 4

C)2 D)5

13. Solve the following:

34
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240 + 8x 512 + 4

[RRB NTPC 2021]
A) 4040
C) 3940

B) 3340
D) 3840

14. What will be the value of the following expression?

0.25 + 0.0025 x 0.025 x 25
[RRB NTPC 2021]

A) 62.5 B) 0.625
C) 625 D) 6.25
15. simplify.
. 7 1 6 1 9 1, 1
25710—{Z><§}>< 3+_Xﬁ_{57%}
[RRB NTPC 2021]
A) 1 B) 10
Q)5 D)1
16. Simplify.
15-63+7+3x13-2
[RRB NTPC 2021]
A)17 B) 18
C)16 D) 19
17. Simplify.
17-4%x(54+9)+6x19
[RRB NTPC 2021]
A) 26 B) 22
C) 24 D) 28

18. Find the value of 18 - [6 — {4 - (8 - (6 + 3))}]

[RRB NTPC 2021]
A1 B) 3
)6 D) 17

19. Find the valueof 7+5-2x(7+89)-94+2+(33 + 3+9x

2-7)+ 1. [RRB NTPC 2021]
A) -235 B) -225
C) 245 D) -245
20. Simplify the following.
105+5%x3+39-46
[RRB NTPC 2021]

A) 56 B) 10
C) 65 D)0
21. Simplify.

46+3 x32-6

37— 3% (34-6)

[RRB NTPC 2021]

A)10 B) 6
C) 4 D)8
22. Simplify.
17x8-6+[(27-3)+6-4]
A) 130 B) 142
C) 150 D) 136
23.100 +10-[-2+{-9+(3-60f 2)}] =
A) -6 B) 20
C) 30 D)0

24. Solve the following:
80+ (16 +2) + {[(6 x5) —15x 2 + 4] - 12}
[RRB NTPC 2021]



A) - 62 B) 2
C)-17 D) 148

25. Solve the following.
5+3x72+24-12=7?
[RRB NTPC 2021]
A) 12 B) - 22
C) 113 D)2

26. Simplify: 1800 + 10 x {45 + (17 - 2)} x 2 + {- 2(1 + 2)}
[RRB NTPC 2021]

A) 180 B) O
C) 1074 D) 114
27. Simplify: 12+ (3x2)+8x 4 - 4 [RRB NTPC 2021]
A)2 B) 1
C) 60 D) 30
28. Solve the following.
108+ (36x 7)+ 2x3 3=?
[RRB NTPC 2021]

A3 B)

13 132

29. What is the value of the following expression?
(243)% = (27 x 6 = 18
[RRB NTPC 2021]
A) 81 B) 162
C) 27 D)1

30. Which of the following options is equal to
16+4%x2-5+1?

[RRB NTPC 2021]
A {16 +4)x2}-(5+1) B) [{(16 + 4) x 2} - 5] + 1
C){16 +(4x2)}-(5+1) D) [{16 = (4 x 2)} - 5] + 1

31. Thevalueof x,if 3x +4x8 +9=x+3-1,is:
[RRB NTPC 2021]

41 21
A) - 5 B) 5.
C)2 D)1
32. The value of 15 - (6 + 6 x 6) = (2 + 5) is: [RRB NTPC 2021]
A)8 B)5
C)9 D)7

33. Thevalueof [3+5-80f4+3x{8+2-(4+3)}is:
[RRB NTPC 2021]

202 101
A- == B) —+
o % D - £

34. Thevalueof 4 x5+2-8x7+9 - (3 +2)is:
[RRB NTPC 2021]

A) -42 B) 21
C)70 D) 35
35. Solve: -4 = -7 + 3x
A -1
B.1
C.1/3

—11
D. =

[RRB NTPC 2016]

A) B B) C
C)A D)D
36. The value of 180 + 20 {(15 - 6) + (24 — 18)} is:
A) 110 B) 135

C) % D) 180

A testbook

37. Find the value of 216 + 6 + 6 x 4 - 10.
A) 150 B) 62
C)72 D) 50

38. Using BODMAS, simplify the following.

7 21 2 2
§X TX25(65 _55)

[RRB NTPC 2021]

[RRB NTPC 2021]

A) 98000 B) 84000
C) 42000 D) 86000
39. Find the value of 7-[3-{7-(5-(4 - 3))}] [RRB NTPC 2021]
A)O B)7
C)9 D)8
40. Simplify:
24 +72+8-3x23+5
[RRB NTPC 2020]
A) 26 B) 18
C) 32 D) 23
41. Simplify:
186 -7x(63-39)+25+5
A) 23 B) 32
C)24 D) 33

42. The value of 200 + (5.23 + 4.77) x (3/5 —2/10) + (5 - 2) is:

[RRB NTPC 2020]
A) 8
C)18

43. Solve the following.

B) 19
D) 11

(4+2-16+4+3)+{1+8x7)+19}x[(3+5-4)+(17-9x4)]=?
[RRB NTPC 2020]

A) -40 B) -225
C) 335 D) 40
44. Compute: (50 + 0.5 x 20) + 0.7
A. 8.571
B. 8571
C.85.71
D. 72.85 [RRB NTPC 2016]
A)D B)C
C)B D) A
45. Simplify: (-4.6) x (-4.6) + (-4.6 + 0.6)
A.-5.29
B. -0.529
C.-4.06
D.5.01
[RRB NTPC 2016]
A)B B)D
C)C D) A
46.Solve 12 -[26 - {2+ 5 x (6 - 3)}]
A2
B.3
C.7
D.8 [RRB NTPC 2016]
A)B B)C
C)A D)D
47. 9876 - ? + 5431 = 5553
A. 9754
B. 9765
C. 8754
D. 9854

[RRB NTPC 2016]
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A) A B)C A)B B) A

C)B D)D c)C D)D

48.22-33+43-62=7 [RRBNTPC 2016] 56, Correct expression of 0.0236 = =

A) 2 B)3 A.13/550

C)4 D)5 B. 236/1000

49. Compute 4923 + 547 - 10 C. 2%

A1 D. 13/555

B. -1 [RRB NTPC 2016]
c. = A)D B) A

D, Lou C)C D)B

179
- - = 7
[RRB NTPC 2016] 57. Compute 35968 + 562 + 8 =7

C)D D)B B. 512
C.8
50. Compute the value of 69696 x 9999 =? D. 521
A. 696980304 [RRB NTPC 2016]
B. 666890304 A)B B)C
C. 696809304 C)D D) A

Fin h X X X =?

C)B D) C B. 0.64
C.64
o D. 640
520 .
51. Compute = [RRB NTPC 2016]
A. 31 A)C B) A
B. 325 C)D D) B
g' :13352 59. (0.2 x 0.2 x 0.2) (0.06 x 0.06 x 0.06) + (0.12x 012 x 0.12) =?
[RRB NTPC 2016] A 0.008
A)D B) A B. 0.001
0B D) C C. 0.002
D. 0.006 [RRB NTPC 2016]
52. The value of 0.592 + 0.8 =? A)D B) A
A.74 C)B D)C
(B:' (7)4781 60. Simplify: {13 +[25 + (3 + 7)] - (2 x 6)}
D. 0.074 A.3.5
[RRB NTPC 2016]  B-0:5
A) C B) B C.28
C)D D) A D. 4
[RRB NTPC 2016]
53. Find the value of 374 x 374 — 374 x 174. A) A B) C
A. 57500 C)B D) D
E:' ?2:88 61. Compute: 87654 x 99999
D: 74550 A. 8766624336
[RRB NTPC 2016] B. 8765312346
A) A B) D C. 8857624336
D. 8656624426 [RRB NTPC 2016]
C)B D)C A)C BB
54. Compute 7497 + 147 -8 =7 C)A D) D
é' Z)O 62. Calculate:
c' 43 5/7 +21/31+ 52/33
’ [RRB NTPC 2016]
2) ?79/116 B) A [RRB NTPC 2016] A) 21350/7161 B) 21250/7161
o cC D)B C) 23250/7161 D) 21240/7161
L _ 63. Simplify:
PV
is}f;rz“p"fy' 2"=2 237.43 + 7453.32 + 5412 - 987.23
B. 1 A. 6757.64
C. 3 B. 6666.64
D. 8 C.7676.64
' D. 6587.64

[RRB NTPC 2016] [RRB NTPC 2016]
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A)A B)C

C)B D) D

64. Thevalueof 84-4+2x3+7is: [RRB Group D 2022]
A) 173 B) 127

C)97 D) 85

65. Which of the following options is the closest approximate
value which will come in place of question mark(?) in the
following equation?
2.04 +5.019 - 3.001x 2.04 =?

[RRB Group D 2022]
A)1 B) 4
C)5 D)3

66. Findthevalueof 3+ M) x4 +(6+1)-21

[RRB Group D 2022]
A) 15 B) 13
C)-13 D) -15

67. Which of the following options is the closest approximate
value which will come in place of the question mark (?) in the
following equation?
18.01x3.99 + 999 x 399 =7

[RRB Group D 2022]

A) 92 B) 112
C)122 D) 84
68.Thevalue of 2+[2+2+ 2+2+(2+ 3 Nis:
[RRB Group D 2022]
47 37
Al 1o B 1
c) = D) X%
69. Which of the following options is the closest approximate

value which will come in place of question mark(?) in the
following equation?
499 + 99-401%x2+359=7?

[RRB Group D 2022]

A)3 B) 2
C)1 D)5
70. The value of
53-924(12+4)-32+8x0=
[RRB Group D 2022]
A) 61 B) 25
C)-15 D) 21
71. The value of 47 + {7 + [61 - (21 = 3)] = 9} is:
A) 40 B) 80
C) 100 D) 60

72. The value of (279 + 31) + (363 + 33) — (512 + 16) is:
[RRB Group D 2022]

A)9 B) 10
C) 12 D) -1
73. The value of 5+ (12-3x4)-6 +2is: [RRB Group D 2022]
A) 6 B) -2
C)2 D) -6

74. Which of the following options is the closest approximate
value which will come in place of question mark(?) in the
following equation?
518 x4 +206x5-10+2+1=7?

[RRB Group D 2022]
A)15
C) 26

75. Simplify: 34 - 66 + 6 + 18 x 8.

B) 40
D) 30

[RRB Group D 2022]

37
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A) 104 B) 138
C) -600 D) 167

76. Which of the following options is the closest approximate
value which will come in place of question mark (?) in the
following equation?
2792x4+396x5-18+2+1="?

[RRB Group D 2022]
A) 115
C)124

77. The value of (6 —3) +[(9—6) = {(6 —4) + (2 + %)H
[RRB Group D 2022]

B) 100
D) 140

is:

5 1

13 26
o 2 D) 2
78. Find the value of [(12 +4) x {% +3x (- 4)}}
A) 54 B) 45
C) 36 D) 27

79. The value of 3+ 3 x [{11-2} +3]-2x3is:

[RRB Group D 2022]
A)7 B) 6
C)o D)8

80. Which of the following options is the closest approximate
value which will come in place of question mark (?) in the
following equation?
23.96 + 24.96 + 2316 - 18.89 x 3.04 + 3613 + 6.1=7

[RRB Group D 2022]
A) 25 B) 27
C) 21 D) 23

81. Which of the following options is the closest approximate
value which will come in place of question mark (?) in the
following equation?
2652 x389-779%x2+2739="?

[RRB Group D 2022]
A) 82
C) 136

B) 181
D) 119

82. Simplify the given expression.
M-{7-56+2x3+1)}
[RRB Group D 2022]

A)9 B) 1

C)10 D) 12

83.The valueof 40 —[3—{4— (6 —6 —4)}]is )
A) 100 B) 300

C) 47 D) 37

84. The expression (3.7)3 - 3 x (3.7)2 x (0.7) + 3(3.7) x (0.7)2 -
(0.7)% is equal to: [RRB Group D 2022]
A) 27 B) 10

C) 30 D) 35
85. Which of the following represents the closest approximate

value that should come in place of the question mark (?) in the
following equation?

(v/360+12+6x3-+170)+2=7

A) 6 B) 4
C)8 D)5

86. The value of -48 + [4x (6 -5+ 1)] + 24

[RRB Group D 2022]

[RRB Group D 2022]
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A) 12 B) —— 99. The value of 49 - [35 + {12+ 3 of (6 + 7 — 12) )] is:
1 _ [RRB NTPC 2022]
-3 D) -9 A) -8 B) -12
= V121 .[RRB Group D 2022] €10 D)9
87. [{(54.36 x 0.4) + 0.256} = 121] equals: roup
11,3 ..3\.(7 .(3_,2
A B) 22 (mgxige2d)+(5=(313)) |
N D) 2 100. The value of T2 is
43 5
88. The value of [(0'68)22(0'32)2216Xongﬁ] is:[RRB Group D 2022] [RRB NTPC 2022]
((0.68)3—(0.32)3]+(0.3) A)1 1 B) 20
1 1 5
3 3 €3 B D) 10
C £ D) ¢

101. The value of the expression

89. If 0.045 + 0.154 - 0.09 + 1.5 - (0.3 x 0.8) = x - 0.231, then the 2, 3 . 1 . [RRB NTPC 2022]
value of x lies between: [RRB Group D 2022] 435 N [35 + Zof24 + (42 7= 53)} s

A)1.8 and 2.0 B) 1.5 and 1.8 A) % B) %
C)11and 1.3 D) 1.3 and 1.5 o 1 o) 109
90. [{(324 + 9) + 4} x 25 + 186] equals: [RRB Group D 2022] ) 6T ) T6T
A) 41 B) 141 102. Simplify the following expression:
C) 14 D) 386 (15+3) - [{(19 - 1) + 2} - {5x 20 - (7 x 9 - (-2))}]
91. The value of 143 - 144 =16 x 3-1is:  [RRB Group D 2022] [RRB NTPC 2022]
A) 115 B) 123 A) -21 B) 35
C) 139 D) 133 C) 3 D) 21
92. Which of the following options is the closest approximate 103. The value of
;/alllue which will co;ne in place of question mark (?) in the y T % s : T+ 30f3 = T 3 ist
ollowing equation? [RRB NTPC 2022]
(v/142 4+ 52 + 26 x 5 — 4/80) x 2 =7 A) 12 B) 3
[RRB Group D 2022] ;0 ;0
A) 32 B) 30 C) 3¢ D) 4=
C) 20 D) 26
3. Simplifv: 54 55 5 104. Simplify the following:
93. Simplify: 5 + — — 10_[%+{4%_<%+8L4)}}
A) 25 B) 15 -9
<110 D)5 ! [RRB NTPC 2022]
94. Simplify the following expression: A) 385 B) 4 8
2.06 - 316 + 4.59 - 1.79 o o
[RRB NTPC 2022] C) 2% D) 1%
A) 1.75 B) 1.65 o . _
C)1.80 D) 1.70 1051.7 Sllr?pllgfy the following expression:
95. The value of 36 + (8x3) -[3+ {4 x {3x 4+ (5-9) + 6}jllies 2 2°2 . 10
between [RRBNTPC2022]  5+(5x3)
A)0.7 and 1 B)1and 1.3 [RRB NTPC 2022]
C)1.3 and 1.6 D) 1.6 and 1.9 A)6 B) 7%
96. Simplify the following expression: C)7 1
2 4, (7 5 D) 65
3T+ (5 - 5) I , .
[RRB NTPC 2022] 106. Simplify the following expression:
A L B) 2 10-18 + 3 x 3 +27 + 32
12 6 [RRB NTPC 2022]
Q)1 D) = A)-5 B) 11
Q) 25 D) -1
97. Which of the following options is the closest approximate
value which will come in place of question mark (?) in the 107. Simplify the following expression:
following equation? oLl o {12 + By (i - E)}
17.821+ 178.21 - 2 = 169.93 6 %0 BOAT T
[RRB NTPC 2022] 5 A [RRB NTPC 2022]
A) 49 B) 58 A) 4Z B) 4%
C)19 D) 26 Q) 4% D) 4§
98.Solve: (4+2)0f 9-6x2+ 2 [RRB NTPC 2022] ) s -
C) 4 D) 43 then what is the value of % ? [RRB NTPC 2022]
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A7 B) 1

Q)

| ot
S
O

109. The value of ( 1% x 1% + %) « 3.
[RRB NTPC 2022]

A)
Q)

o] v o] w

110. The value of 84 + 32 x 8 -15 + 8 x (19 - 35) is:
[RRB NTPC 2022]

A) 45 B) 38

C) 51 D) 42

111. The value of 72 + 4 x {8 x 4 - (14 - 19)} is: [RRB NTPC 2022]
A) 666 B) 1296

C) 444 D) 222

12. If {2; - {3 - (1% - g)” + P x <=0, then what

B}
is the value of P? [RRB NTPC 2022]
A) -4 B) 2
C)4 D) -2

113. Which of the following values can replace K in

73 x4l —K= 26%? [RRB NTPC 2022]
2

1 7
A 23 B) 955
C) T D)2

. 27 15 14 86 99
4 h h — —_ = ! = — — \?
114. What is the value of 5 X T { 77 X D) X 13 }

[RRB NTPC 2022]

A)3 B) 2

C)4 D)5

15.Ifa= %, b= g and c = %, then what is the value of

(ab) +c=? [RRB NTPC 2022]
17 13

A) 61 B) 3
19 21

C) 589 D)

354

116. If + means addition, x means subtraction, + means

multiplication and - means division, then30-10 + 4 x 6 + 4 =7
[RRB NTPC 2022]

AN B) 10

C)13 D) 12

117. Simplify the following expression :
3.5x 0.5 x (4.4 - 0.625 + 1.5625)
[RRB NTPC 2022]
A)7 B) 14
C)1.75 D) 10.5

118. The value of 5-10 +5x2-[12+60of (5x6 =+ (6 -9) +
13} x (8 + 4 of 3)] is [RRB NTPC 2022]

A)5/6 B) 2/3
C)5/9 D) 4/9
119. Find the value of x in the following equation:
1 . 6 _ =z
1+ —=I+1 = 5
1+%
[RRB NTPC 2022]
A) 2 B)1
1 2
C) 5 D) 3

120. If 32% of 22.5 - % x +/512x 4/81= y, then the value of
y is: [RRB NTPC 2022]

A testbook

A) -40.2 B) -41.2
C) -40.8 D) -41.8

9 45 49 16 24, 16 _
121. 15X8_1X{?X<7_2)}X?TE—?
[RRB NTPC 2022]

A) B)

C) D)

3| o o] ot
o] © | =

122. If 27 x 3 x 896 + /3136 =y + 640, then find the value of
y. [RRB NTPC 2022]
A) 666 B) 648
C) 664 D) 656
123. Find the value of (162 + 9) + 3 - (343 + 49) + 7.

[RRB NTPC 2022]
A) _Tl B) 5

C) 53 D) -1

124. 29.5% of a number is 0.59. What is that number?
[RRB NTPC 2022]
A) 2.4 B) 2
C)25 D) 1.8
125. Simplify: 65 - [40 - (60 + 5 — (18 — 24 + 4) = 6)]
[RRB NTPC 2022]

A) 40 B) 35
C) 30 D) 37
126. Simplify:
18+48 +12x (32 - 4)2-8
[RRB NTPC 2022]
A) 344 B) 266
C) 242 D) 308
127. Simplify:
302 (40+22x10+5)x6-4
[RRB NTPC 2022]
A)5 B) 300
C) 896 D) -3.75
128. Simplify:

[(7x9)+(3x8)+3]+[(9x4)+ (72 +8)]

[RRB NTPC 2022]
A)5
C)2

B) 4
D)3
12-[(3-5)x4]+8—8+[6(12x2)] _
Ox15:(12x10) 125 (6x2)] >
[RRB NTPC 2022]

129. The value of

21
A) 42 B) =
C) 48 3
) D) ¢
130. Simplify the following expression.
12-6+2+4
32 x 3-7+6
[RRB NTPC 2022]
A 3 B) 3
13 11
<) D) 15

131.1f 56 = 14 x 22 - 12 x 6 = 3 + 10 = z, then find the value of z.
[RRB NTPC 2022]
A)3 B) 4
C)6 D)2
132. Find the value of the expression:
(4+5-1x3+2)x8
32x8—4x2



[RRB NTPC 2022]

A 3 B)
C)o D) =
133. Simplify:

72-4(40+24 +8x6-4x4)+20
[RRB NTPC 2022]

A) -36 B) 52
C)-76 D) -6
134. Simplify the expression. 95 +15-34 + {18 - 4 + (3 x 12) x
9} x 2 [RRB NTPC 2022]
95 5
A) — o5 B) 25
C) 5+ D) 21
) 53 ) 23

135. 56+ [1{15+12— (9+6-5+7)}| =2

A) 12 B) 4032
Q)7 D) 448

136. 22 — [23 - {24 - (27 25— 30) }] —7
A) -7 B)7

C)-9 D) -8

137. (136 =+ 17) + (17 x 13) — (103 — 85) x (62 + 145) + 23 =7
[RRB Group D 2018]

A)75 B) 67

C) 59 D) 76

138.-15-(-18 - 35 + 5) = ? [RRB Group D 2018]
A)10 B) -14

C)-2 D)6

139. What will come in the place of the question mark ‘?" in the
following question?
66 +[67-{43-(17-117+9x4)}]=?

[RRB Group D 2018]

A) -6 B) 11

C)eé6 D) -11

140. 119 + [22 - {90 + (23 - 105 + (7 x 3))}] = ?[RRB Group D 2018]
A) 4 B) 12

Q)3 D)7

141.70 +5x(10-8+2)+3=? [RRB Group D 2018]
A) 28 B) 3

C)1/3 D)7

142.63-(-3)(-2-8-4)=[3{5+(-2)(-N}]1=7?

[RRB Group D 2018]
A) 65 B) 60
C) -60 D) 61

143. 162 = {51 _ {29 f (9 —6+ 7) }] _?
[RRB Group D 2018]
A) 18 B) 14
Q)7 D)9
144, 119 = [22 _ {90 - (23 105+ 7 x 3) H —2
[RRB Group D 2018]

A)7 B) 12

C)3 D)4

145.15x3 - 9 x (52 + 5) + 5 = (1 + 3) + 10 = ?[RRB Group D 2018]
A) 28 B) 18

C)8 D) 30

146. What is twice the value of pif p=36-2(20 +12 + 4 x 3 -
2x2)+10? [RRB Group D 2018]
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A) -4 B) -10
C)-2 D) -8
147. What would be get when 8 kg 25 g is multiplied by 25?

[RRB Group D 2018]
A) 200 kg B) 200.625 kg

C) 199.625 kg D) 199 kg

148. Find the value of 22 — [23 - {24 - (27 —29_ 30) H .
[RRB Group D 2018]

A)1 B) -3

C)-4 D) -5

149.75 = [35-{63-(79-54 +9x6)})]=? [RRB Group D 2018]
A)3 B) 5

C) 25 D) 15

150. {40— (90+5 x 16—8+2+3)} =2
[RRB Group D 2018]
A) 16 B) 28
C) 64 D) 14
151. (18) [36 = {7 - (-2)}] = [(-4){19 - (-3) x (-5)}] = ?
[RRB Group D 2018]
A) -4.5 B) 45
C) 2.5 D) -2.5
152, (12)[1 + {7  (-3)}] = [4 {13 - (-3) x (-6)}] = 2
[RRB Group D 2018]

A) -6 B) -4
C)4 D) -2
153.80 = [48 - {56 - (60 - 36 =+ 12 x 4)}] =? [RRB Group D 2018]
A)5 B) 8
C) 4 D) 2
154. {52 - (9-2)} =+ [3x {1+ (-2) x (-2)]1=? [RRB Group D 2018]
A)3 B) -9
C)9 D) -5
2,4 [RRB Group D 2018]
155. —of <53 125> =7
(3-3)
A) 5/7 B) 5/6
C) 6/5 D) 2/6

156.4+3x4+3x42+3x43+3x44+3x4°=7
[RRB Group D 2018]

A) 5 x 4° B) 9 x 44

C) 48 D) 10 x 4%

157.138 =+ [35 - {53 - (89 - 72 =+ 9 x 6)}] = ? [RRB Group D 2018]
A) 2 B) 6

C) 23 D) 3

158. 551+ 29 =19, then 5.51 = 0.0019 =?  [RRB Group D 2018]
A) 2.9 B) 290

C) 2900 D) 0.29

159. What is the value of X, if 7580 — X = 3440?
[RRB Group D 2018]

A) 4150 B) 5140

C) 4130 D) 4140

160. How much would one need to add to the difference of
5.42 and 3.56 to get 10? [RRB Group D 2018]
A) 8.14 B) 6.44

C)1.02 D) 4.58

161. Simplify the following expression:

2 1 2 7 13 4
(§X€)+<§ X E)_(TX§> =7



[RRB Group D 2018]

A) 14/3 B) -17/9

C) 29/3 D) 23/9

162. Simplify: (g n %) of s d 1.2
A 3= B) 34

C) 2~ D)1

24

163. Simplify the following expression:

3 33 9 12 5 22
(%) (8 (5 B)
[RRB Group D 2018]
A) (-9)/2 B) (-13)/2
C)13/2 D) 9/2

164. Simplify the following expression

i) (D) ()

[RRB Group D 2018]
A) 12/21 B) 21/12
C) 36/21 D) 41/12

165. Find the value of |21 = (-7) + 12| x 21 + 5.
[RRB Group D 2018]
A) 194 B) 491

C) 149 D) 419

166. Evaluate: 40 - (7x3 +24 +8x3-4x2)+12

[RRB Group D 2018]
A) 30 B) 10
C) 40 D) 20

167. Solve the following expression: 5.032 + 150.03 + 40.00 -

30.50 =" [RRB Group D 2018]
A) 164.562 B) 154.562

C) 264.562 D) 165.562

168. Evaluate: 42 x {(2 + 3) - 11} [RRB Group D 2018]
A) 40 B) -10

C) 80 D) -96

169. Evaluate: 40 -2(12+13 +5x3-5%x2)+19=?

[RRB Group D 2018]
A) 384 B) 38
C) 49.2 D) 39.4

170. The value of 20 = [{2 x (3 - 7)} — 15 + 25] is:
[RRB Group D 2018]

A)-2 B) 7.5

C) 10 D) -1.54

171.132x16 22+ 4 =2 [RRB Group D 2018]
A) 792 B) 176

C) 264 D) 268

172.384+2°x3+8=7? [RRB Group D 2018]
A) 12 B) 132

Q3 D) 44

173.105x2+ (3x5)-6="? [RRB Group D 2018]
A) -70 B)5

c) 8 D) 35

174.66x32+ 23+ 8= ?

A) 1060 B) 792

C) 132 D) 272

175. 3.0005 - 1.748 = ? [RRB Group D 2018]
A) 1.2525 B) 1.257

C) 2.8257 D) 1.9257
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176. (55/11) + (18 = 6) x 9 = ? [RRB Group D 2018]

A) 113 B) 115

C) 100 D) 110

177. 18+ (24 +3)} - 9="? [RRB Group D 2018]
A)3 B) 9

C) 4 D)8

178. 140 + [61 - {36 — (40 — 60 + 12 x 6)}] = ?[RRB Group D 2018]

A) 2 B)5

C)4 D) 10

179.77 + [46 - {66 — (52 - 63 + 9 x 3)}]=? [RRB Group D 2018]
A)5 B) 6

)N D)7

180. (-5) {20 - (-2) x (-8)} = ? [RRB Group D 2018]
A) 180 B) 20

C) -20 D) -180
181.2-[3-{6-(5-4-3+10)}]=? [RRB Group D 2018]
A) 4 B) 2

C)1 D) -3

182. 111 = [-(52) + (-4) of {33 = (- 22 = (-2)}] =

[RRB Group D 2018]
A) 37 B) -5
C)-37 D) -3

183. Find the value of {39 — (19 — 44)} = { - 4 x 3 - (-4)}
[RRB Group D 2018]

A) -5 B) -6
C)-4 D) -8
0.9894 1
184, o — =5 = [RRB Group D 2018]
A) 1.2 B) 1
C) 1.02 D) 0.98
185.8 x {7 - (-2) x (-4)} =7 [RRB Group D 2018]
A) 80 B) 8
C) -16 D) -8
186.92-[71+{4-(5-(4-2)}]1=7 [RRB Group D 2018]
A)12 B) 21
Q)15 D) 20
63.5535
187. X = 1505
Find the value of x?
[RRB Group D 2018]
A) 4.46 B) 4.28
C) 4.87 D) 4.48

188. 84 = [50 f {43 — (30 128+ 874) H —7

[RRB Group D 2018]
A) 12 B) 3
C)4 D)7

189. Take away 0.15 from 2.4 and add the result to 7.5. what do

you get? [RRB Group D 2018]
A) 8.75 B) 7.25

C)9.75 D) 6

190. {(99 - 1)/7%} x2+8 =2 [RRB Group D 2018]
A) 10 B) 13

can D) 12

191.104 + [68 — {29 - (45 - 56 + 7 x 4)}] =? [RRB Group D 2018]
A4 B) 2

c) s D) 13



192. Find the value of

129 = [46 - {93 - (35 —132+11 x 3) H _9
[RRB Group D 2018]

A)3 B)5

Q)7 D)1

193. Find the value of 15 + — + = [RRB Group D 2018]
32 31

A 5 B)
31 31

o = D &

194.75-(96 - 18 + 6 - 58) + 5+ 4x 17 =2 [RRB Group D 2018]

A) 70 B) 136

C)76 D)7

195. 30 — {29— { 28 — (25— 21—22)}} — 9
[RRB Group D 2018]

A testbook

196.3+[32+8x52:(4+9)]=? [RRB Group D 2018]
A)19 B) 20
C) 21 D) 18

197.{20-(25-33)} +{-5x4 - (-6)} +56 + (-27 +13) =7

[RRB Group D 2018]
A) -4 B) -2
C)4 D) -6
198.144 - [40 - {37 -(25-112 + 7 of 4)}] =7

[RRB Group D 2018]

A)4 B) 2

)8 D)6

199. 396 - 39.6 - 3.96 - 0.396 =? [RRB Group D 2018]
A) 352144 B) 352.044

C) 352134 D) 352.034

200. Simplify: (3.6 + 6.4) (3.6 - 6.4) - (3.6 - 6.4)2 =?
[RRB Group D 2018]

A) -1 B) 1 A) 29.6 B) 32.6
C)2 D)3 C) 32.68 D) -35.84
ANSWER KEY
( Q. 1 2 3 4 5 6 7 8 9 10 1 12 13 14 )
Ans B D B A B A A D B D A C D A
Q. 15 16 17 18 19 20 21 22 23 24 25 26 27 28
Ans D C A D B A C A C B D C D A
Q. 29 30 31 32 33 34 35 36 37 38 39 40 41 42
Ans C B A C D A A C D A B D A D
Q. 43 44 45 46 47 48 49 50 51 52 53 54 55 56
Ans A B D A A D D B D B D C C B
Q. 57 58 59 60 61 62 63 64 65 66 67 68 69 70
Ans B B C A B B A D A C B A B D
Q. 71 72 73 74 75 76 77 78 79 80 81 82 83 84
Ans D C C C D C C D B C D D D A
Q. 85 86 87 88 89 90 91 92 93 94 95 96 97 98
Ans A C D B D A A D D D B B D D
Q. 99 100 101 102 103 104 105 106 107 108 109 110 m 112
Ans C B C C C D B A A D C C A A
Q. 113 114 115 116 117 118 119 120 121 122 123 124 125 126
Ans C B B B A C A C B D B B B B
Q. 127 128 129 130 131 132 133 134 135 136 137 138 139 140
Ans A C A A D B C D C C B A A D
Q. 141 142 143 144 145 146 147 148 149 150 151 152 153 154
Ans A D D A A D B D B A B A D A
Q. 155 156 157 158 159 160 161 162 163 164 165 166 167 168
Ans B C B C D A B C B B A A A D
Q. 169 170 171 172 173 174 175 176 177 178 179 180 181 182
Ans D C D D C D A A A C D C D D
Q. 183 184 185 186 187 188 189 190 191 192 193 194 195 196
Ans D B D D C D C D B A C B D A
Q. 197 198 199 200
\_ Ans D D B D Y,
SO LUTI O NS 2. Given expressionis (1+2/3) +[(1+1/3) =+ (2/3+1)] =?

1.[(169 x 121) =+ (11 x 13)] -3 =?
=S[(13x13x11x11) = (1Mx13)]-3=2
=[(11x13)]-3=?=[143]-3=?=140="?

= (5/3) + [(4/3) + (5/3)] = ? = (5/3) + (4/5) = 25/12

3.(4992/624)-10=8-10=8-10=-2

. Required value = -2

4. (3.2 x 10%) = (2 x 10%) = (32 x 103)/(2 x 10°) = (32 x 103) / (2 x
10%)
= 16/102
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5.3108 + 259 - 10 = (3108/259) - 10 = 12 - 10 = 2

6. Step 1: 18x1.33 - 11+ 13, Step 2: 24 - 1 + 13, Step 3: 2442 = 26
7.20-[15-{4-(8 -6 +3)}]
=20-[15-{4-(11-6)}] =20 - [15 - {4 - 5}]
=20-[15-{-1]=20-[15+1]=20-16=4

8. U 5,(4+5 = 3-5x(9)=3-45=-42.

3
9.103-[(144 + (12 x12)) + 5 + (12 = (6 - 2)) + 10]
=103 - [(144 = 144) + 5 + (12 = 4) + 10]
=103-[1+5+3+10] =103-19 = 84
10. (6 + 4) x §+5—3=>10x2+5-3=>20+2:22

6x2
8—1+5

BE]
12

=1

6x2

o5 s T

Therefore, the value

=1800 + (99 - 69)2 = 1800 = (30)% = 1800 + 900 = 2

62.5

71 9 1, 1

ST {3 - %}

= (5/2) - (7/10) + (21/5) - 5 = 67/10-7/10-5 =1

=17-24+14=17+9 =26

1=17.

=27+5-2x96-94+2+M+18-7)+1

20. Here, we have 105 + 5 x 3 + 39 - 46

12.1800+('I1x24+8x3—69)2=‘1800+('l1><3><3-69)2
13.240 + 8 x 512 + 4 = 30 x 128 = 3840
14. 0.25 + 0.0025 x 0.025 x 25 =100 x 0.025x 25 =25x%x 25 =

. 6 14
15. 25510 {1 x 3} x5+ 5 x
= 25 +10 - (7/12) x (6/5) + (14/3) x (9/10) - 5
16.15-63+7+3%x13-2=15-09+39-2=15+3-2=16
17.17 -4x (54 +9)+6x19=17-4x06+11.4
18. Here, we have 18 - [6 - {4 - (8 - (6 + 3))}]
=18-[6-{4-(8-9}1=18-[6-{4 +1}]=18-[6-5]=18 -
19.7+5-2x(7+89)-94+2+(33 + 3+9x2-7)+1
=27+5-2%x96-94+2+(33+3+9%x2-7)+1
=7+5-2%x96-94+2+22+1
=7+5-2x96-47+2=-227+2=-225
= 21x3+39-46 =63+39-46 =102 -46 =56.
46+%x3276

21. = (46 + 3 x 8 - 6)/(37 - 3/4 x (28)

37-2x(34-6)
= (46 +24-6)/(37-3/4x7)= (46 + 24 -6)/(37 -3 x7)

= 64/16 = 4.

22.17x8-6+[(27-3)+6 - 4]
=136-6+[24+6-4]=130+[4-4] =130+ 0 =130
23.100+10-[-2+{-9+(3-60f 2)}]=10-[-2+{-9+ (3 -
2H=10-[-2+{-9-9}]=10-[-2-18] =10 +20 =30
24.80 -+ (16 +2) + {[(6 x 5) =15 x 2 + 4] — 12}
=80+8+{[30-30+4]-12} =10+ {4 - 12}

=10-8 =2

25.5+3%x72+24-12="7
=25+3%x3-12=?,=25+9-12=?,=214-12="?

n2=?

26.1800 =10 x {45+ (17 -2)} x 2 + {- 2(1 + 2)}

=180 x {45 +15} x2+{-2x3} =180x3x2-6 =1080-6 =
1074

2712+ (3x2) +8x4-4=12-6+8x4-4
=2+8x4-4=2+32-4=30
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28.
108 = (36 x 1) + = x 37

=108+ (9) + % x 3+
13

=12+ 2x %
13
:12+E
133
10
3
=137
29.7 = (243)% + (27> x 6 + 18
=?7=81x6+18=7?=27
30,16 +4x2-5+1=4x2-5+1=8-5+1=4
Now From the given options; Option 2:
[{(16 = 4) x 2} - 5]+ 1= [{(16 - 4) x 2} - 5] + 1
={4x2}-5]+1={8}-5]+1= 4 > {Hence option [{(16 + 4) x
2} - 5] + 1is correct.

31.3x +4 x 8 x %:xx %—1
= 3x+32/9 =x/3-1=3x-(x/3) =-1-(32/9)
= (9x - x)/3 = (-9 - 32)/9 = 8x/3 = -41/9

= x = (-41/9) x (3/8) = x = -41/24
32.15-(6+6x6)+(2+5)
=15-(6+36)x(1/7)=15-42x(1/7)=>15-6 =9
33.[3+5-80f4+3x{8+2-(4+3)}]
=[3x(1/5)-8x4+3x{8x(1/2) - (7)}
=[(3/5)-32+3x{4-7}=[(3/5)-32+3x(-3)

= [(3/5) - 32-9] = (3-160 - 45)/5 = -202/5
34.4x5+2-8x7+9-(3+2)
=4x5%x(1/2)-56+9-5=10-56+4=-46+4 = - 42
35.-4=-7+3x=3x=7-4

x =3/3 =1

36.180 + 20 {(15 - 6) + (24 — 18)} is 180 + 20 {(9 + 6)}

= 180 = 20 (15) = 180 + 300 = 180 x (1/300) = 18/30 = 9/15
37. Here, we have 216 + 6 + 6 x 4 - 10

Now, apply the BODMAS rule,

=36+6x4-10 =36+24-10 = 60 -10 =50.

38. (7/9) x (21/5) x 25[(652 — 552)]

= (7/9) x (21/5) x 25[(4225 - 3025)]

= (7/9) x (21/5) x 25[1200] = (7/9) x (21/5) x 30000

= (147/45) x 30000 = 3.266 x 30000 = 98000

39. 7-[3-{7-(5-(4-3)1=7-[3-{7-(5- ()}
=7-[3-{7-(4}]=7-[3-{3}]=7-0=7

40. ?7=24+72+8-3x23+5=?=24+09-3x23+5
=?7=24+09-69+5=?7=299-69=7=23
41.186-7%x(63-39)+25+5=186-7%x24+25=+5
=186-7%x24+5=186-168 +5 = 23

42,200 = (523 + 4.77) x (3/5 —2/10) + (5 - 2)

=200 =10 x (3/5-2/10) + (5 -2) = 200 =10 x 4/10 + 3
=20x4/10+3=8+3=11

43. (4 +2-16+4+3)+{(1+8x7)+19}x[(3+5-4)+(17-9 x
4)]

=(6-4+3)+{(57)+19}x[4-19]=5+3x(-15)
=5-45=-40

44. (50 + 0.5 x 20) + 0.7 = (50 +10) + 0.7 = 60 + 0.7 = 85.71
45, (-4.6) x (-4.6) = (-4.6 + 0.6) = (-4.6) x (-4.6) + (-4)

= (-4.6) x (115) = - 5.29

46.12-[26 - {2+5x (6 -3)]=12-[26 - {2+ 5x 3}]



=212-[26-17]1=212-9=3

47.9876 - ? + 5431 = 5553 = 9876 + 5431 - 5553 =? = ? = 9754

48.22-334+43-62=4-27+64-36=5
49. 4923 + 547 -10 = 9 -10 = (1)
50. 69696 x 9999 = 69696 x (10000 - 1) = 696960000 -

69696

= 696890304

33800
520

5
52.0.592 -+ 0.8 = 0.74

53. 374 x 374 - 374 x 174 = 374 x (374 - 174) = 374 x 200 =
74800

54.7497 + 147 - 8 = 51 - 8 = 43
55.24: 21 5 04+ 1 5255 2% 2x2x2x2= 32

51. = 33800/(5 x 520) =13

56. Suppose, 0.0236 = z --—(i)
Multiply by 100 in equation (i), we get
100z = 2.36  ----(ii)
Multiply by 100 in equation (ii), we get
10000z = 236.36 ----(iii)
Subtract equation (ii) from equation (iii)
9900x = 234 = x = 234/9900 = 26/1100, x = 13/550
57. 35968 + 562 + 8 = 35968 x 1/562 x 1/8 = 8
58. 200 x 20 x 2 x 0.2 x 0.02 x 0.002 = 0.064

59. (0.2 x 0.2 x 0.2) (0.06 x 0.06 x 0.06) + (0.12 x 0.12 x 0.12)
= (0.2 x 0.2 x 0.2) x (0.06 x 0.06 x 0.06) / (0.12 x 0.12 x 0.12)
= 0.008 x 1/8 = 0.001

60.{13+[25+(3+7)]-(2x6)} = {13 +[25+10] - 12}
=2{13+25-12} =35

61. 87654 x 99999 = 87654 x (100000 - 1) = 8765400000 -
87654 = 8765312346

62.5/7 + 21/31 + 52/33
LCM of 7, 31 and 33 is 7161

(5%31x33)+ (21x7x33)+ (52x7x31)

7161

= (5115 + 4851 + 11284)/7161 = 21250/7161
63. 237.43 + 7453.32 + 54.12 - 987.23
= (237 + 7453 + 54 - 987) + (0.43 + 0.32 + 0.12 - 0.23)
= 6757 + 0.64 = 6757.64
64.84-4+2x3+7 =84-2x3+7 =91-6=85

65. 2.04 + 5.019 - 3.001 x 2.04
= 2.04 - 3.001 x 2.04 + 5019 = 2.04(1 - 3.001) + 5.019
= 2.04(- 2.001) + 5.019 = -4.08204 + 5.019 = 0.93696 ~ 1
- 2.04 +5.019 - 3.001 x 2.04 = 1
66.(3+1M)x4+(6+1)-21=(14x4)+7-21=56+7-21
=8-21=-13
67.18.01x 3.99 + 9.99 x 3.99
= (18 + 0.01) x (4 — 0.01) + (10 - 0.01) x (4 - 0.01)
= 72 - 0.18 + 0.04 - 0.0007 + 40 - 0.1 - 0.04 + 0.0001
=112 -018 - 0.1 = 112 - 0.28 = 111.72 ~ 112

6+1

68. 2+ [2+42+ {242 + (2+ )} =52+4[ 242 +{2+2 +( —)}]
=2+[2+2+{2+2+ ;}] =2+[2+2+{2+(0.86)}] =2+[2+2+{2.86}]

=2+[2+0.69] =2+2.69
=4.69 approximately 4.7

69.4.99 + .99 -4.01x2+3.59
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After replacing the signs from left to right and using the
BODMAS rule,

=499 +.99-4.01%x2+359=499 +.99-8.02 +3.59
=598 -8.02 +3.59 =-2.04 + 3.59 =155

The closest approximate value for 1.55 is 2.

70. 253-92+(12+4)2-32+8x0=53-92+(3)2-32+8x0

=53-92+9-32+8x0=125-81+9-32+0=134-13+0
=21

71.47 + {7 + [61- (21 = 3)] = 9}

=47 +{7+[61-71+9} =47 +{7+54 +9} =47 + {7 + 6}
=47 +13 =60

Hence, the required value is 60.

72. (279 + 31) + (363 + 33) — (512 + 16)
=9+M1M-32=20-32=-12

73. Now, using BODMAS rule
54+4(12-3x4)-6+2,5+(12-12)- 6 +2
=5+0-6+2=5+0-3=5-3=2

Hence, the correct answer is "option 3".

74. we will solve division first

=518 x4 +2.06x5-(10+2)+1=518x4+206x5-5+1
now multiplication will be solved

=(518 x 4) + (2.06 x 5) - 5 + 1=20.72+10.3 - 5 + 1

now addition will be solved

=32.02 - 5=27.02

26 is closest from the options.

75. Now, according to the question,
34-66+6+18x8 =34 -11+144 = 167

76.2792 x4 +396x5-18 +2 +1

= 2792x4+396x5-9+1= 11168 +19.80-9 +1
=111.68 +19.80 + 1- 9 =132.48 - 9 =123.48 ~ 124
77. (673)+[(976)+{(674)+(2+%)}}

= 3:[3)+ {2+ (ZH) =33 +2+ &)

. 17 13 13
=3+ [3x 1—3]=> 3x[ m]: =

78. [(12+4)x{%+§ x(7—4)}]:
[(12+4) x {13—2+§ ><(3)H = 27
79.3+3x[{11-2}+3]-2x3

=3+3x[{9}+3]-2x3=3+3x%x[3]-6=3+9-6=12-6=6

80. 23.96 + 24.96 + 23.16 - 18.89 x 3.04 + 36.13 + 6.1
=23.96 + 24.96 + 23.16 - 18.89 x 3.04 + 592

=23.96 +24.96 + 23.16 - 57.425 + 5.92

=(23.96 + 24.96 + 23.16 + 5.92) - 57.425

=78 - 57.425 = 20.575 ~ 21

Thus, the required closest value is 21.

81. 26.52 x 3.89 - 7.79 x 2 + 27.39

= 103.16 - 7.79 x 2 + 27.39 = 103.16 + 27.39 - 15.58

= 130.55 - 15.58 = 114.97

Thus, the closest approximate value to 114.97 is 119.
82.11-{7-56+(2x3+1)}
=M-{7-56+(6+1)}=1-{7-56 +7}
=M-{7-8}=1"-{-1=1+1

=12

83. 40-3-{4—-(6—-6—4)}]
=40-[3-{4-(6-2)]=40-[3-{4-4}]]=40-3=37
84. For the given expression, comparing it with the formula
of (a - b)?,

= (3.7)3-3x (3.7)2 x (0.7) + 3(3.7) x (0.7)2 - (0.7)



=a=37andb=0.7
= (3.7)3-3x(3.7)2 x (0.7) + 3(3.7)
=(37-07P3=33=27

85. As, /360 =18.97 and /170 = 13.03

Here, we have

( V360+12+6x3 /170 ) 2, (1897 + 12 + 6 x3 - 13.03) + 2
(1897 +2x3-13.03)+2, (1897 + 6 -13.03) + 2

(2497 -13.03)+2=1194+:2=597=6
86.-48 = [4x(6-5+1)]=24

using the BODMAS rule,
=-48=+[4x(6-5+1)]+

= 6=+24= 1
=-6+24= —7

x (0.7)2- (0.7 = (37 -0.7)3

24=-48 +[4x2]+24=-48 +8 +24

87.[{(54.36 x 0.4) + 0.256} + /121 ]

= [{(54.36 x 0.4) + 0.256} +11 ] =[{21.744 + 0.256} +11]

=[22+11]=2

[(0.68)2+(0.32)2+16%0.0136]
(0.68)3—(0.32)3]+(0.3)2

Now, multiply by ( 0.68 - 0.32) in both numerator and

denominator respectively
(0.68—0.32)[(0.68)?+(0.32)+0.2176]

(0.68—0.32)[(0.68)3—(0.32)3]+-(0.3)2
Now, the numerator of this equation is in the form of
(a - b) (@2 + b2 + ab) = (a® - bd)
Where a = 0.68 and b = 0.32
[(0.68)3—(0.32)3] _ 1
(0.68—0.32)[(0.68)3—0.32)3]-(0.3)2 _ 0.36:0.09
89. On solving L.H.S
0.045 + 0154 - 0.09 + 1.5 -
R.H.S, x - 0.231
L.H.S=R.H.S, -1.631= x - 0.231, X=-0.231+1.631 = 1.400
90. [{(324 - 9) + 4} x 25 + 186], [{36 + 4} x 25 + 186]
[9% 25 +186] , 225+186, 411
91.143 -144 + 16 x 3 -1
using the BODMAS rule,
=143-144 + 16 x3-1=143-9x3-1=143-27 -1
=116-1=115
(V142 +52 + 26 x 5 — 1/80) x 2 =(11.9 + 52 = 26 x 5 - 8.9)
X 2
=(119+2x5-89)x2=(19+10-89)x2
= (219-89)x2=13x2 = 26
93. 5+ 28 5= 5428 -
=5+5-5=5
94.2.06-3.16 + 4.59 - 1.79 = 2.06 + 4.59 - 316 - 1.79 = 6.65 -
495 =170
95.36+(8x3)-[3+{4x{3x4
{4x{3x4=(-4)+6}}]=36=24-[3
=36 +24-(1/4) = 5/4 = 1.25
Hence, 1.25 lies between 1 and 1.3
5
=

2 4 7 5 2 4 21 -5 2
6

97.17.821+ 178.21- 2 =169.93 = 18 + 178 - ? =170 = 26 = ?
98. = (4+2)of 9-6x2+ §= 60f9-6x2+ g

=54-6x2+ 7 =54-12+1=43

88. Here, we have

=1/4

(0.3 x 0.8), 0.199- 1.59-(0.24), -1.631

+(5-9)+6}}]=36+24-[3 =+
+{4x{-3+6}}]

—
mlc’

X

|

[35+{12+30f (6+ 7T—12)}] =49 -[35+{12+3 of (6 -
[35+ {12 + 3}] = 49 - [35 + 4]

99. 49 -
5} =49 -
=10
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101.131/3 + [35 + 3 x 24/ 4 + (42 + 7 - 16/3)]
=131/3+[35+3x6+(6-16/3)] = 131/3 +
16)/3]

=131/3 + [563 + 2/3] = 131/3 +
= 131 + 161 = 131/161

102. (15 +3) - [{(19-1) =

[35+18 + (18 -

[159 + 2]/3 = 131/3 + 161/3

2}-{5x20-(7x9-(-2)}]

= (5) - [{(18) = 2} - {100 - (63 + 2)}] = (5) - [{9} - {100 - 65}]
=31
103.
3 2 ., 5 2 2 3 4 1 8 2 2
725+ goflg - f(§ §°f2)+3><13——5—§§
3 8 5 6 2 4 10 8 2
=  Xgigofs—5ts X5 im -3
38 .2 2 4 _ 10 8 D
= ZX§T§_4€+3 T T3
=>§x4—%+gx%—§ 3-2+1= 2 =33
104. [10 - [(3/4) + {9/2 - (1/4+1/84)}]] 4

= [10 - [(3/4) + {9/2 - (21 + 1)/84}]] +
= [10 - [(3/4) + {9/2 - 11/42)}]] + 4 = [10 {(3/4) + 89/21}] +4
= [10 - {(63 + 356)/(21 x 4)}] + 4 = [10 - (419/84)] +

= [(840 - 419)/84)] + 4= 1.2
r.n,n
2 727 2 . 169 17x13 13x15 | 169 _ 1
iPs- Tmm) WY e T W 3
T

106.10-18 +3x3+27+32=10-6x3+27+9=10-18+3
=13-18=-5

107.13/6 x { 1%+15/13x(5/7+25/’|4)}

13/6 x { 155 +15/13 x (5/7 x 14/25)}

= 13/6 x {45/26 + 15/13 x 2/5} = 13/6 x {45/26 + 30/65}
= 13/6 x {(225 + 60)/(13 x 5% 2)}  ----(Taking LCM of 26 and

65=13x5x2)
= 13/6 x 285/130 = 19/4
108.5/4 x ( 2L 23/4 +23/8-15/4=13/A= Bx(Bx 1). B
1 1 2% 8
S L1
54_1614 8 _ 15 _ 13 35 3% _ 5
Rl T g S i d S
Now, putting the value of k in (k + 1)/( )
5 5 _ 9 /1_ 9 _
E+1)/(E-1)= &/ 1= 2xa=9,
109.( 12 x 1—— B 3254 2 5y 224
3 5 s 3 37 5 3 s 3

4x - E=>5/6

110.84 +32x8-15+8x(19-35) =84 +32x8-15+ 8 x (- 16)
= 21/8 x 8 - (15/8) x (- 16) = 51
M.72+4%x{8x4-(14-19)}=272+4x{8x4-(-5)}=>72+
4x{32+5}=72+4x37= 666

12. [2%—{3— (1%— %)}] +Px1=0

~f o2l
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23 19 1
= | = - = P x ==
[8 8]+ 8
1 1 _
= 2+P><8-
= 14+2-0=P=-4
2 8
38 9
13, 73 x4 _K=232= = x--K= &
b 2 683 5355 2
342 107 _ _ - 149 _ 9
T K=K —5 K= 55 =2K= T
M Tl U8y Bls Tylols
5 81 7 72 43 5 81 2
LN AN )
5 81
115. (ab) + ¢
17 13 . 34 17 13 33 1 13 1 _ 13
Tt w T me w T w3 w3 m

16. 30+10x4-6+4 =3%x4-6+4 =212-6+4 =16 -

6 =10

Hence, "option 2" is the correct answer.

117. 3.5 x 0.5 x (4.4 - 0.625 + 1.5625)
=35x05x(44-04)=35x05x%x(4)=35x2=7
1M8.5-10+5x2-[12+60of {5x6+(6-9)+13}x (8 + (4 x 3))]
=5-10+5%x2-[12+60of {5x6+(6-9)+13} x (8 +12)]
=5-10+5%x2-[12+60f {5x 6+ (-3) + 13} x 2/3]
=5-10+5%x2-[12+ 6 of {5x(-2) + 13} x 2/3]
=5-10+5x2-4/9=5-2%x2-4/9=5-4-4/9

=1-4/9=5/9
M9, [1+——]+(1+6/M=x2= [1+—]=+(1+ 6/1)=
1+1+_l 1+5
5
x/2
= [1+6/1] +17/11 = x/2 = 17/11 + 17/11 = x/2
=>x=1x2=2.
120. 32% of 22.5 - gx B12x /81
= (0.320f225) - 2 x {BI2x V81
=72- §X8X9:7.2-48$—40.8
121 ixﬁx{ﬁx(ﬁ—ﬂ}xﬁ;ﬁ
T 15 81 6 7 5 15
9 45 49 16—14 24 ., 16
EXEX{FX( 7 )}X?TE
9 45 49 2 24 , 16
= X% {7*?} T
9 45 7 24 , 16 9 45 7 24 15
= T XgX3XFTEIED® o XagX3XT X%
1 21 7

122.27 x3x 896 + /3136 =y + 640 =27 x3x896 + 56 =y +
640 =27 x3x16 =y + 640 = 1296 =y + 640 = y = 1296 - 640
=y =656

123. (162 +9) + 3-(343 +49)+7

=18+3-7+7=6-1=5

124. Let the number be Q.

29.5% of Q= 0.59 = 0.295 of Q = 0.59
=0295xQ=059=Q=0.59/0295=Q=2

125. 65 -[40 - (60 + 5 - (18 — 24 + 4) + 6)]

= 65-[40-(60+5-(18 - 6) + 6)]
=65-[40-(60+5-12+6)]=65-[40-(12-2)] =35
126.18 + 48 +12x (32 +4)2-8=18+48 +12x82-8 =18 +
4x82-8= 266

127.30+ (40 +4x10+5)x6-4=30+(10x2)x6-4 =30+
20x6-4=30/20x6-4=3/2x6-4=5
128.[(7x9) + (3 x 8) + 3] + [(9 x 4) + (72 + 8)]
=[(7x9)+(3x8)+3]+[(9x4)+09]
=[(7x9)+(3x8)+3]+(36+9)= [(7x9)+(3x8)+3]=+45
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= [63+(3x8)+3]+45=[63+(24 +3)] +45
= (63+27)+45=90+45=2
12—[(3-5) x4]+8-8+[6+(12x2)] 12—[(3—5) x 4]+ 8—8+[6-24]
9x15+(12x10)—[12+(6x2)] 9x15+(12x10)—[12+12]
12-[(3—5)x4]+8—8+1/4 12— [-2x4]+8-8+1/4

129.

9% 15+ (12x10)—1 9x15:120—1
- 12— [—8]=8-8+1/4 12-[-1]-8+1/4
9x1/8—1 9/8-1
13-8+1/4 541/4 (20+1)/4
= 9/8—1 9/8—1 (9-8)/8
= 211/—/;=>2‘I/4x8/1 = (21x2) = 42
130, l2-6:2+4
32 x 3-746
12-3+4 _ 13 — 1
2W—T7+6 26 2

131.56 + 14 x22-12x6 + 3+ 10
=24%x22-12x2+10=24%x4-12x2+10=16-24+10 =2

(4+5-1x3+2)x8 (08—1x3+2)x8

132. 1 - = 1-
32 x8—4x2 32x8—-4x2
(0.8—3+2)x8 (—0.2)x 8
= 1 - 55— 5 =8
~1.6 1.6
1
= 1025 = o

133.72- 4(40 + 24 = 8 x 6 - 4 x 4) + 20

=72 - 4(40 + 3 x 6 - 4 x 4) + 20 = 72 - 4(40 + 18 - 16) + 20
=72-4x42+20 = 72-168 + 20 = (-76)
134.95:15-34 {18 - 4+ (3x12) x 9} x 2
=95:15-34+{18-4+36x 9} x2
=95:15-34 = {18 -1/9 x 9} x 2

= 95+15-34+{18-1x2=95+15-34+17 x2
=19/3-2x2=19/3-4=(19-12)/3=7/3= 24

135. = 56 = [(1/3){15 + 12 - (9 + 6 - 12)}] = 56 = [(1/3){15 + 12 -
(15-12)}1

= 56 = [(1/3){15 + 12 - 3}] = 56 = [(1/3){27 - 3]

= 56 = [(1/3)(24)] = 56 + 8 = 7.

136. 22 [23— {24 — (27— (—=5)}]

522 -[23- {24 - (27 +5)}] = 22 - [23 - {24 - 32}]

=22 -[23-(-8)] = 22 - [23 + 8] = 22 — 31

- -9

137. (136 = 17) + (17 x 13) - (103 — 85) x (62 + 145) = 23,

5 8+221-18x207 +23 > 8+221-18 x9 = 8 + 221 - 162 =
67

138. 15 - (18 - 35 + 5) = 15 - (18 - 7) = -15 - (-25) = -15 + 25 =
10

139.66 = [67 - {43 - (17-17 =9 x 4)}] =2

66 +[67-43-(17-13x4))] =2 = 66 = [67 - {43 - (17 - 52)}] =
?

= 66+ [67-{43-(-35)}]]=? = 66 = [67 - {43 + 35}] =2
=66+[67-78]=?=66+-11=?=-6=7

140. 119 = [22 - {90 + (23 - 105 = (7 x 3))}]

=119 + [22 - {90 + (23 - 105 + 21)}] = 119 + [22 - {90 = (23 - 5)]
S 119:[22-{90 +18}] = 119 = [22-5] =119 + 17 =7

141. 70 :5x(10-8+2) +3 =14 x(10-4) =3 - 14 x 2 =28
142. 63-(-3)(-2-8-4)=[3{5+ (- 2- )]

= 63-(-3)(-2-8-4)+[3(5+2}] = 63 - (42) + 21 = 61

143. 162+ [51 _ {29 - (9 61 7) }]

= 162+ [51— {29 — (9 — 13)}]

= 162+ [51— {29 — (—4)}

= 162+ [51— {29 + 4}]



= 162+ [51 — {33}]
=162 +18 =9

144, 119+ [22 - {90+ (23 - 105+ 7 3) }]

=119 +[22 - {90 + (23 =105 = 21)}] = 19 + [22 - {90 = (23 - 5)}]

=119:[22-{90 18] =119+ [22-{5}] =19 + [17] = 7
145. 15x3-9x (52 +5) =5+ (1+3) +10
=15x3-9x5=+5=(1/3)+10 =15x3-9x1x 3 +10
= 45-27 +10 = 28
146.p=36-220+12+4x3-2x2)+10
=p=36-220+3x3-2x2)+10
=2p=36-220+9-4)+10=p=36-2x25+10
=p=36-50+10=p=-4=2p=-8

147. 8 kg 25 g = 8 x 1000 + 25 = 8025 g = 8025 g x 25 =
200625 g = 200.625 kg

148. 22— [23 - {24— (27— 29— 30) H

=22 -[23-{24 - (27 - (-1))}] = 22 - [23 - {24 - 28}]
=22 -[23 - (-4)] = 22 - 27= -5

149. 75 + [35- {63 - (79 - 54 + 9 x 6)}]
=75+[35-{63-(79-6x6)}] =75 =[35 - {63 - (79 - 36)}]
=75+[35-{63-43})] =>75+[35-20]=75+15=5
150. = {40 - (90 + 5x 8 = 2 + 3)} = {40 - (90 x %xsx %x %
)} = {40 - 24} = 16

151. (-18) [36 + {7 - (-2)}] = [(-4){19 - (-3) x (-5)}]

= (-18) [36 = 9] = [(-4){19 - 15}] = (-18) x 4 = [(-4) x 4]

= (-72) + (-16) = 4.5

152. (<12)[11 + {7 x (-3)}] = [4 {13 - (-3) x (-6)}]

= (F12)[11 + {-21}] = [4 {13 - 18}] = (-12)[-10] = [4 x (-5)]
=120 + (-20) = -6

153. 80 = [48 - {56 - (60 - 36 + 12 x 4)}]

= 80 = [48 - {56 - (60 - 3 x 4)}] = 80 = [48 - {56 - (60 - 12)}]
=80 +[48-{56-48}] =80 +[48-8]=80+40=2
154. {52 - (9 - 2)} = [3 x {1+ (-2) x (-2)}]
={52-7}+[3x{1+4}] = 45=[3x5]=45+15=3
3 T

)
=y N
5

156.4 +3x4+3x42+3x43+3x4%+3x4°
=41+3)+3x4%+3x43+3x4%+3x4°
=242+3x42+3x43+3x4%+3x4°
=421+3)+3x4%+3x4%+3x4°

= 45(1+3)

= 4%

157.138 = [35 - {53 - (89 - 72 = 9 x 6)}]

138 = [35 - {53 - (89 - 8 x 6)}], 138 = [35 - {53 - (89 - 48)}]
138 = [35 - {53 — 41],138 = [35 - 12], 138 = 23 =6

158. If 551 + 29 = 19, then, 55 = 19 = 29, 55/19 = 29
5.51/(0.0019 x 10%) = 29, 5.51/(0.0019) = 2900

159. 7580 — X = 3440 X = 4140

160. x +542-356=10 = x +1.86 =10 = x =10 - 1.86 = x =
8.14

161. :(%x%)+(%x
= (1+21-39)/9 = -17/9

7 13 4 1 7 13
5) (—X§)=‘5+§ 3
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162. = 11/8 x 4/11 = 3/16 - 3/8 = 1/2 + 3/16 - 3/8 = 1/2 x 16/3 -
3/8 = 8/3-3/8
= (64 - 9)/24 = 55/24 = 2%

w (308) (0 2) (3
=3/2-9+1=(3-18+2)/2 = (-13)/2

3 1 5 7 13 _ 4
164.:>(EXE)+(EX;>—(TXE>
=1/4 + 35/6 - 13/3 = (3 + 70 - 52)/12 = 21/12
165. 121+ (-7) + 12| x 21+ 5= |-3+12|x21+ 5= 9| x 21+ 5
=29%x21+5=189+5 =194
166.40 - (7x3+24+8x3-4x%x2)+12
=40-(7x3+3%x3-4%x2)+12=40-(21+9-8)+12
=40-22+12=52-22=30
167. 5.032 + 150.03 + 40.00 - 30.50 = 195.062 - 30.50 Required
answer 164.562
168.42x{(2+3)-11}=>42x{5-11}=>16><{—6}Requiredc|nswer
=-96
169.40-2(12+13+5x%x3-5%x2)+19=40-2(12+39/5-5x%x2)
+19
= 40-2(12+7.8-10) + 19 = 40 - 2(19.8 - 10) + 19
=40-2%x98+19=40-19.6+19 =59 -19.6 = 394
170. 20 + [{2 x (-4)} 15 + 25] = 20 + [{-8} +10} = 20 + 2 =10
171. 384 +25x3+8=7?=(384/32)x3+8=?=12x3+8=7?
=36+8=?=44
172. 384 +25x3+8=?=(384/32)x3+8=?=12x3+8=7?
=36+8=?=44

173.105x2/(3x5)-6 =(210/15)-6 =14-6=8

174.66x32+23+8=66%x32:8+8=66x4+8=

= 264 + 8 =272

175. 3.0005 x 10000 = 30005, 1.748 x 10000 = 17480, 30005
- 17480 = 12525

. 12525/10000 = 1.2525

176. (55/11) + (18 - 6) x 9 =5+ 12x 9 = 113

177.{8+(24+3)}+9=>{8+(‘I6+3)}+9=>(8+19)+9=>27+
9=3

178. 140 = [61 - {36 — (40 - 60 + 12 x 6)}]

= 140 = [61 - {36 — (40 — 5 x 6)}] = 140 = [61 - {36 — (40 -30)}]
= 140 + [61- {36 —10}] = 140 + [61 - 26] = 140 + 35 = 4
179.77 + [46 — {66 — (52 - 63 + 9 x 3)}] = 77 + [46 — {66 — (52 -
7 x3)}]

= 77 + [46 - {66 — (52 - 21)}] = 77 = [46 - {66 — 31}]

=77 +[46-35]=77+11=7

180. ? = (-5) {20 — (-2) x (-8)} = (-5) {20 - (16)} = (-5) {4} ~ ? = -
20

181.2-[3-{6-(5-4-3+10)}]
=22-[3-{6-(15-4-3)}]=2-[3-{6-(15-7)}]
=22-[3-{6-8}]=22-[3+2]=22-5 =-3

182. 111 = [-(52) + (-4) of {33 = (- 22 = - 2)}]

= 111+ [-25 + (-4) of {33 = 11}] = 111 = [-25 + (-4) of 3]

=111+ [-25 -12] = 111 = (-37) = (-3)

183.{39 - (19 - 44)} + { - 4 x 3 = (-4)} = {39 + 25} + { -12 + 4)}
= 64 + (-8) = (-8)

51
184. o " 50 = 50/50 =1
185.8 x {7 - (-2) x (-4)} = 8 x {7 -8} = 8 x (-1) = (-8)

186.92 - [71+{4-(5-(4-2)}]



=92-[71+{4-(5-2)}]1=92-[71+{4-3}]
=92-[71+1]=92-72 =20

187. x = 63.5535/13.05, . x = 4.87

188. = 84+ [50 — {4° — (30 — 128 + 32)}]

= 84 = [50 - {64 - (30 - 4)}] = 84 = [50 - {64 - 26}]
=84+[50-38]=84+12=7

189.2.4 - 0.15 + 7.5 = 9.75

190.{(99 - 1)/72}x2+8=2,=?={98/49} x 2 + 8
=?=2x2+8=?=4+8=12

191.104 + [68 - {29 - (45 - 56 = 7 x 4)}] =?

=?=104 + [68 - {29 — (45 - 8 x 4)}] = ? =104 + [68 - {29 - 13}]
=7=104+[68-16]=2?=104+52=7=2

192. 129 + [46 - {93 + (35 - 132 = 33)}]

=129 + [46 - (93 + (35 — 4)}] = 129 + [46 - (93 + 31)]
=129 + [46 - 3] =129+ 43 = 3

193, = 2 4 2 0 T (64415 +14)/36 = 93/36

194.75-(96 -3 -58)+5+4x17=7

N testbook

=75-35+5+4x%x17=?=75-7+4x17=?
=75-7+68=7=2143-7=?=136="
195.=230-[29-{28-(25+1)}]=?=30-[29 - {28 - 26}] =7
=30-[29-2]=?=30-27=?=3="?

196.3 +[32+8x52+(4+9)]=3+[32+8x52+13]
=3+[4x4]=3+16 =19

197.{20 - (25 -33)} + {-5x 4 - (- 6)} + 56 + (- 27 + 13)

= {20 - (-8)} +{-5x4 +6)} + 56 + (- 14)

= {20 + 8} + {- 20 + 6} + 56 + (-14)

={28} +{-14}+56 + (-14) = -2-4= -6
198.Step1:70f 4 =7 x4 =28,Step2:112/28 =4

Step 3:25-4=21,Step4:37-21=16

Step 5:40 - 16 = 24, Step 6 :144/24 =6

199. 396 - 39.6 - 3.96 - 0.396 = ? = 396 — 43.956 = ? = 352.044
=?

200. (3.6 + 6.4) (3.6 - 6.4) - (3.6 - 6.4)° =?
=10 % (-2.8) - (-2.8)°=?=-28 - 7.84=7 = -35.84 = ?
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